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Each question has a sentence which 1s divided into four
parts. Identify the part that 1s grammatically incorrect. If

the sentence 1s grammatically correct, choose option e.
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Neither the students nor the teacher (A)/ were
happy with how the (B)/ school management
canceled the (C)/ play last minute without a
forewarning.(D)/ No error (E).

O O ® »

No error
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I did (A)/ not want him (B)/ moving to (C)/
London without me.(D)/ No error (E).

A e
C O w »

No error
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Seetha agreed with (A) / the proposal presented
(B)/ to her regarding the (C)/ overseas expansion

of her company.(D)/ No error (E).

A e
c O w »

No error
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No less than ten students (A)/ were present 1n
today's class (B)/ since 1t had been raining (C)/
heavily since the previous night.(D)/ No error (E).

c O w »

No error
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None of the employees (A)/ were willing to take
up (B)/ the job offer that required them (C)/ to

shift to another country altogether.(D)/ No error
(E).

O O ® »

No error
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In each of the following questions a sentence has been
divided into five parts which may or may not be
properly arranged. You are required to rearrange these
parts 1in order to form a meaningful and coherent

sentence.
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Multifunctional centres run by the cooperatives (A)/,
the godowns to be built at the block level under this
(B)/ providing various utilitarian services to farmers

(C)/ project are designed to serve as (D)/.

1. ACDB
2. BACD
3. BDAC
4. BCAD
5. No rearrangement required.
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Seems like a lifetime for a long-term solution to the
stubble (A)/ or repealing a counterproductive
groundwater law (B)/ Delhi’s residents have been
waiting for what (C)/ problem such as pushing

cultivators to diversify into other crops (D)/.

1. DBAC
2. CADB
3. BDAC
4. CDAB
5. No rearrangement required.
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Is nurtured to commemorate Punjab’s spirit of
perseverance (A)/ 1t 1s urgent that a counter narrative to
religious (B) / and to reflect its innate multi-culturalism
(C)/ fundamentalists 1s promoted and an alternative

political discourse (D)/.

1. DBCA
2. BACD
3. DACB
4. BDAC
5. No rearrangement required.
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Guidelines within 15 days, and the actual (A)/
commencement of work at the cooperative society level
within 45 days (B)/ committee within one week of the
Cabinet’s approval, formulation of (C)/ 1t stipulates setting

up of a national-level coordination (D)/.

1. BADC
2. CDAB
3. ADBC
4. DCAB
5. No rearrangement required.
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Taking on the border-country i1ssue in the (A)/ repairing its
reputation, and gives a (B) / handle to those who do not

want new disclosures (C)/ same consultation distracts from
Sebi’s task of (D)/.

1. BDAC
2. ADBC
3. CDAB
4. ACBD
5. No rearrangement required.
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There are blanks in each sentence given below. You have
to choose the best option that fits the blank to complete the

sentence.
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The world of work 1s changing faster than the workforce

and to survive technological developments and

automation, workers must their skaills.
1. tarnish

2. aggravate

3. ameliorate

4. dwindle

5. None of these
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There 1s an imperative need for making global efforts
towards a sustainable future on our planet and, for this,

plastic pollution is important.

1. Embracing

2. Combating

3. Pondering

4. Repudiating

5. None of the above
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Considering the international trend of ‘on-the-job

learning’, the Centre 1s also taking several steps for
internships and apprenticeships to give exposure to the

youth outside the classroom.

understating

playing down

1

2

3. prioritize
4. accentuating
5

None of the above
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In the passage given below there are five words/phrases
given 1n bold represented as (1), (2), (3), (4) and (5).The
bold words may or may not be inappropriate to the
context. Each number has four alternative words/phrases
given as options to choose from. You are required to pick
the word/phrase that will best replace the bold word with
the respective number. Mark option(e) as your answer 1f

“No change required.”
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When it comes to students enrolling in study abroad programmes, India has
fastened (1) China, for the most students leaving their home country as part of
their education journey. India has seen a significant rise in the number of students
studying abroad. A Red Seer research project predicts that by 2024, 1.8 million
Indians would have spent $85 billion on education abroad. In addition to
intriguing research prospects, the majority of nations provide international
students with the option of staying behind on their visas to look for employment.
The possibility to pursue (2) specialised courses, attractive compensation post-
completion of education, exposure to multiculturalism, and high-quality education
are among the main attractions for students looking to study abroad. However,
recent reports of the deportation of Indian students from Canada have restored (3)

many dreams and turned them rather into a nightmare.
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This reported unfortunate incident happened on account of various factors
including students seeking help from middle agents, falsified acceptance letters
that were provided by these agents to enter Canada, and absence of
communication between college(s) and students which resulted in students
running (4) around from college to college because the middle agent didn’t
send them to the school they wanted. Every country’s immigration laws
consider misrepresentation a serious infraction, and the applicant’s chances of
success are slim. Only when the applicants can demonstrate that they had a
sincere and reasonable belief that they weren’t hiding any unnecessary (5)

information does an exemption apply.
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When i1t comes to students enrolling 1n study abroad programmes,

India has fastened (1) China, for the most students leaving their
home country as part of their education journey.

Which of the following words will replace (1) given in the passage ?

1. won

2. surpassed

3. outperform

4. preceded

5. No change required
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The possibility to pursue (2) specialised courses, attractive compensation
post-completion of education, exposure to multiculturalism, and high-
quality education are among the main attractions for students looking to
study abroad.

Which of the following words will replace (2) given in the passage ?

1. pursued

2. avoud

3. pursuing

4. sought

5. No change required
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However, recent reports of the deportation of Indian
students from Canada have restored (3) many dreams and
turned them rather into a nightmare.

Which of the following words will replace (3) given in the

passage ?

1. reimposed

2. renewed

3. shattered

4. taken

5. No change required
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This reported unfortunate incident happened on account of various
factors including students seeking help from middle agents, falsified
acceptance letters that were provided by these agents to enter Canada,
and absence of communication between college(s) and students which
resulted in students running (4) around from college to college because
the middle agent didn’t send them to the school they wanted.
Which of the following words will replace (4) given in the passage ?
wandering
standing

1

2

3. sitting
4. roam
5

No change required
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Only when the applicants can demonstrate that they had a
sincere and reasonable belief that they weren’t hiding any
unnecessary (5) information does an exemption apply.

Which of the following words will replace (5) given in the

passage ?

1. 1nappropriate

2. 1rrelevant

3. relevant

4. pointless

5. No change required






